the entire ray
$$x \ge 0$$
 for
 $[x \ge 0, y = 0]$
 $(x \ge 0, y = 0]$
 $(x \ge 0, y = 0]$
 $(x \ge 0, y \ge 0]$
 $(x \ge 0, y \ge 0)$
 $(x \ge 0, y \ge 0)$
 $(x \ge 0, y \ge 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 0, y \le 0)$
 $(x \ge 1, y \ge 1, y \le 0)$
 $(x \ge 1, y \ge 1, y \le 0)$
 $(x \ge 1, y \ge 1, y \le 1, y \le 0)$
 $(x \ge 1, y \ge 1, y \le 1, y \ge 1, y$

step1: same as 3. stepz: U=1× along (s): X=SY=Su=1 $\frac{du}{ds} = U_X X_s + U_Y Y_s$ $= U_X + U_Y = 0$ PPE $\begin{array}{c} (i) \\ (i)$ => no solution. (II): chapter 3 & 4. Ch3: 2nd-oder PPE (linear) allxx +26 lxy + Clyy + dux + ely +f4 $\begin{cases} \mathcal{J} = \mathcal{b} - \alpha c > 0, \text{ hyperbolic}, \\ e.g. \quad \mathcal{U}_{tt} = \mathcal{U}_{XX} \\ \mathcal{J} = 0 \qquad \text{parabolic}, \\ e.g. \quad \mathcal{U}_{t} = \mathcal{U}_{XX}. \\ \mathcal{J} < 0, \quad \text{elliptic}, e.g. \quad \mathcal{U}_{xx} + \mathcal{U}_{yy} = 0. \end{cases}$ ch4: $u_{tt} = c^2 u_{xx} + g \qquad x \in (\infty, \infty)$ -> d'Alembert's formula. (14) method of separation of variable. heat equation $U_t = \nabla \cdot (K \nabla u) + 2$ fourier. (ase: K= constant, 9=0, IP space $\{ \begin{array}{l} \mathcal{U}_{t} = \{ \mathcal{U}_{xx}, \ 0 < X < L, \ t \neq 0 \ (PDE) \\ \mathcal{U}_{0,t} = \mathcal{U}_{1,t} = \mathcal{U}_{1,t} = 0, \ t \neq 0 \ (BC) \\ \mathcal{U}_{1,t} = f(X), \ 0 \leq X \leq L \ (IC) \end{array}$ RK: compatibility u=0 PDE u=0 Condition method: step1: separated/product solution (PDE,BC) step2; superposition. step3: find wefficients. < (IC) step 1: (1a) we seek solution of the form. $\mathcal{U}(\mathbf{x},t) = X(\mathbf{x}) \cdot T(t)$ PDE => Ut=KUxx \implies X $T_t = K X_{XX}$ $= \frac{T_{t}}{kT} = \frac{X_{tx}}{X} = -\lambda$ $\Rightarrow \begin{cases} X_{XX} = -\lambda X & (I) \\ T_{+} = -k\lambda T & (2) \end{cases}$ $BC \implies U(o,t) = X(o) \cdot T(t) = 0$ $\mathcal{W}(L,t) = \chi(L) T(t) = D$ $\frac{7 \neq 0}{\longrightarrow} \chi(0) = \chi(L) = 0 \quad (3)$ (15) Solve X(X) $\begin{cases} X_{XX} + \lambda X = 0 \quad (1) \\ X(0) = X (L) = 0 \quad (3) \end{cases}$ Casel: 2<0 $X(x) = C_1 e^{F_\lambda x} + C_2 e^{F_\lambda x}$ $\begin{cases} X(e) = C_1 + C_2 = 0 \\ X(L) = C_1 e^{F_1 L} + C_2 e^{F_2 L} = 0 \end{cases}$ $\Rightarrow C_1 = C_2 = 0$. case 2! $\lambda = 0$. $(1) \implies X_{XX} = 0$ $X(x) = C_1 + C_2 X$ $\begin{array}{c} (3) \implies \begin{cases} X(0) = C_1 = 0 \\ X(L) = C_1 + C_2 \cdot L = 0 \end{array}$ $G = C_2 = 0$. cases: 270 $(1) \Rightarrow \chi(x) = C_1 \cos(\pi x) + C_2 \sin(\pi x)$ $(3) \longrightarrow SX(0) = C_1 = 0$ $X(L) = 0 + C_2 sin(AL) = 0$ $C_2 \neq 0, C_2 = 1$ for nontrivial solution $\sin(\Lambda L) = 0$. $JI = n\pi$, n = 1, 2, 3, ...
$$\begin{split} \lambda &= \lambda_n = \left(\frac{n\pi}{L}\right)^2 \\ \lambda &= \chi_n = \sin\left(\frac{n\pi}{L}\right), \quad n=1,2,3,\ldots \end{split}$$
(C): Solve T(+) $T_{t} = -K\lambda T$ \implies T = Be^{-klt} sul it to d = la

$$T = T_{n} = B_{n} e^{-k\left(\frac{n\pi}{L}\right)^{2}} t$$

$$Summary:$$

$$U_{n} = X_{n} \cdot T_{n}$$

$$= B_{n} \cdot \sin\left(\frac{n\pi}{L}x\right) e^{-k\left(\frac{n\pi}{L}\right)^{2}} t$$

$$n = l, 2, 3, \cdots$$

$$Step 2: superposition [formed]$$

$$u(x,t) = \sum_{n=1}^{\infty} U_{n}$$

$$= \sum_{n=1}^{\infty} B_{n} \sin\left(\frac{n\pi}{L}x\right) e^{-k\left(\frac{n\pi}{L}\right)^{2}} t$$

$$Step 3: Find B_{n}$$

$$IC \Rightarrow U(x,o) = f(x) = \sum_{n=1}^{\infty} B_{n} \sin\left(\frac{n\pi}{L}x\right)$$

$$B_{n} : Fourier coefficient:$$

$$Fourier expassion of f(x)$$

$$multiply \sin\left(\frac{m\pi x}{L}\right) B_{n} integrate:$$

$$\int_{0}^{L} f(x) \sin\left(\frac{m\pi x}{L}\right) dX$$

$$Formule \int_{0}^{L} \sin\left(\frac{n\pi}{L}x\right) \sin\left(\frac{m\pi}{L}x\right) dX$$

$$\int_{0}^{L} f(x) \sin\left(\frac{m\pi x}{L}\right) \sin\left(\frac{m\pi}{L}x\right) dX$$

$$Formule \int_{0}^{L} \sin\left(\frac{m\pi x}{L}\right) \sin\left(\frac{m\pi x}{L}\right) dX$$

$$\int_{0}^{L} f(x) \sin\left(\frac{m\pi x}{L}x\right) \sin\left(\frac{m\pi x}{L}x\right) dX$$

$$Formule \int_{0}^{L} \sin\left(\frac{m\pi x}{L}x\right) \sin\left(\frac{m\pi x}{L}x\right) dX$$

$$Formule \int_{0}^{L} \sin\left(\frac{m\pi x}{L}x\right) \sin\left(\frac{m\pi x}{L}x\right) dX$$

$$Formule \int_{0}^{L} \sin\left(\frac{m\pi x}{L}x\right) \sin\left(\frac{m\pi x}{L}x\right) dX$$

$$= \frac{2}{L} \int_{0}^{L} f(x) \sin\left(\frac{m^{2}x}{L}\right) dx$$

$$= \frac{2}{L} \int_{0}^{L} f(x) \sin\left(\frac{m^{2}x}{L}\right) dx$$

$$= 1, 2, \cdots$$

Summary:

$$M(x,t) = \sum_{m=1}^{\infty} B_m \sin\left(\frac{m\pi x}{L}\right) e^{k\binom{m\pi}{L}t}$$

$$RK: f(x) \text{ is assumed to be}$$

$$p \text{ plecenoise continuous.}$$

$$To do \text{ list.}$$

$$D \text{ Exercise.}$$

$$2 \text{ HWS.}$$

$$Next: S5.2 - S5.3.$$